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Introduction to Addressing Mode

* There are six different modes which are used for addressing.
* Some of these modes are divided into sub-categories, for instance, Input and Output (10) addressing mode is
sub-divided into direct port addressing, and indirect port addressing.
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Introduction to Addressing Mode

* The data could be transferred using MOV instruction in assembly language:

MOV  Destination Source

* The source could be immediate data, a specific register, or memory location.

*  While the destination could be a specific register, or memory location.

5
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[ o
Register Addressing Mode
[15 8[7 o
* The source and destination of the date are b o >
. . g . BX BH BL General
stored in a specific register. ox CH cL Registers
DX DH DL
* The instruction (MOV) will refer to a particular
. L . St Ind
register to be copied into another register. DI Rerg]iset)e(rs
* All registers could be used except IP register. &
DS Segment
Ss Registers
ES
Reg < Reg ] -
Pointer
B Registers
SP.
Flag Register Status

_ Register I
7

Register Addressing Mode

Write an assembly code to transfer a data from accumulator (AX)
register to base (BX) register.

Solution:

file edit bookmarks assembler emulator math !file math debug

0 = e . H . = I
new open examples save comp Load |
01 org 108h :

|62 mov BX, AX | —reglstersH

83 ret

Dr. Eng. Ahmad Saeed Mohammad. 4
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Immediate Addressing Mode

Addressing Mode
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* The source of the data is a constant, and this constant
will be transferred using the instruction to a register.

* However, an immediate value could not be
transferred to a segment register.

* Instead, an immediate value could be transferred to a
temporary register first, then the content of the
temporary register could be copied into the segment
register.

Reg < < Constant > ]

Immediate Addressing Mode

[15 8[7 0
AH AL
BH BL General
CH CL Registers
DH DL
SI Index
DI Registers
CS
DS Segment
SS Registers
ES
P
Pointer
BE Registers
SP
Flag Register Status
Register
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Solution:

R e e b T L

B

0O = e . & . g
. new open  examples save compi
@1 org _1606h
~|MOV CH, 23H
DZIMOV BX, 1979H
84 Tet
[line: 3 [col: 14

Immediate Addressing Mode

Write an assembly code to transfer a 23 H to lower part of counter
register. Also, transfer a 1979 H to base (BS) register.

1
 file edit bookmarks assembler emulator math gfile math debug

= L
Load rel
 registers

11

Memory Addressing Mode
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Memory Addressing Mode

* In this mode, the execution unit (EU) of 8086 microprocessor will calculate the effective Address (EA)
according to the following:

EA =[BX|BP] + [SI|DI|+ < 8 — 16BitsDisplacement >

* In addition, the programmer may select either BX or BP as a base register, in same manner, Sl and DI may be
specified as an index register which be used the above equation.

* The effective address (EA) is used as an offset for the physical address (PA) of the destination data.

PA = Segment Register : EA

Memory Addressing Mode

There are five different types of memory addressing modes as follows:

1. Direct memory addressing mode.
@ Addressing Mode
2. Register indirect memory addressing mode. . _ S 1

Memory

-

3. Based Indexed memory addressing mode.

Addressing Mode

4. Register Relative memory addressing mode.

L
o

5. Relative Based Indexed memory addressing mode.

o o

{0 I ] i ]

1

I

1 =

i I Direct ’ Register Indirect Based Indexed Register Relativel SIS Hes s
i Indexed

O e i

e -
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Direct Memory Addressing Mode

* In this mode, EA will be implied directly in the instruction. So, there is no calculation will be involved.

* Also, a data will be copied between the memory and a register specified by the instruction.

Reg < [ EA] ]

* The content of memory is either a byte (8 bits) or word (16 bits), and the memory location (physical address)
is calculated as the following:

PhySicalAddress - [SegmentAddress] X 1O]H+OﬁsetAddT688 ]

*  Forinstance: PA =DS : EA

UMKC

Direct Memory Addressing Mode

Write an assembly code to transfer the memory content of address
2600 H in the data segment to the accumulator. Also, transfer the
memory content of address 2100 H to the base register.

Solution:

edit: Z\home\ahmadworkstation\Dropbox\_MustUni_2019_202

file edit bookmarks assembler emulator math ascii codes help

O = e . H . > 3] ;
new open examples save compile  emulate | calculator convertor op!
01 org 106h =
02 MOV AX, [2600H]
03 MOV BX, [2100H]
04 ret |

line: 4

[col: 31 [ drag a file here to open

S

16
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Direct Memory Addressing Mode
-0 - O

Code segment

Find the physical address of the memory location and its contents 3480
after the execution of the following, assuming that DS = 1512H. s
four binary digits left

3D645

edit: ZZ\home\ahmadworkstation\Dropbox\_MustUni_2019_202

34BA0(CS)+
file edit bookmarks assembler emulator math ascii codes help 8AB4(IP)
D ﬁ * - n - = ' "' 3 D65 4 (nextaddress)
new open  examples save compile emulate | calculator convertor | opti MBOF
91 org 16eh = ]
52 MOV AL, 3BH — [ Physical gdgress = [Segment agdress) X 10] g+Offset sgdress ]
93 MOV [3518], AL
84 ret
line: 4 [col: 4 [ [ drag a file here to open ,é
Solution:

e Line 2: 3B H is copied into AL register.

e Line 3: The content of AL copied into memory address DS :
3518 which is 1512 : 3518

e Shift DS into left 15120, then add it to 3518, Thus
15120 H + 3518 H = 18638 H

17

Register Indirect Addressing Mode
* A byte 8 bits or a word 16 bits will be transferred between a register and a memory location indexed by an
index (Sl, DI) or base (BX) register. s o[ o]
BX BH BL General
Rego[DS : (sI|DI|BXY | :E= =
| Bi | Tndex
| DI | Registers
CS
________ DS Segment
t’ 1 SS Registers
i Memory i =
i Addressing Mode | | = _
! i B Regisrs
i = SP
1 =
I“ ': | Flag Register ;:;i:lse .
{ I 7 ! )

] [Regisler lndirect] [ Based Indexed ] [Register Relaﬁve} [ T

[ Direct
Dr. Eng. Ahmad Saeed Mohammad.
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Register Indirect Addressing Mode
Example 6.5: E
Find the physical address of the memory location after the execution gz
of the following, assuming that DS= 1000H, and BX= 1234 H. P
edit: Zz\home\ahmadworkstation\Dropbox\_MustUni_2019_2020" | K A I
file edit bookmarks bl emulator math ascii codes help
0O = e . B »- 2 = a
new open examples save compile  emulate | calculator convertor opti
51 org 106h =
92 MOV AX, [BX] i g: gt
i ret cH cL
line: 3 |col: 23 [ [ drag a file here to open 4 DH DL
I | SP
Solution: ?ST
e Line 2: The content of memory location pointed by DS : BX =
is copied into AX register. Reg + [DS : {SI| DI | BX}]
o The physical address is calculated as:
DS : BX =1000 H :1234 H
= 10000 H + 1234 H =11234 H

Register Indirect Addressing Mode
E@g

Assume that DS = 1120 H, SI = 2498 H, and AX = 17FFE H Show

the contents of memory locations after the execution of DS
P
edit: Z:\home\ahmadworkstation\Dropbox\_MustUni_2019_202
file edit emulator math asciicodes hetp | [ TTTETTINTTTTTT
[} = 2 . H . > ] E
new open examples save compile  emulate calculator convertor opti
1 org 16eh =
2 MOV [SI], AX =
83 ret |
line: 3 |cot: 38 [ [ drag a file here to open i AH AL
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, B8H BL
Solution: CH CL
: - % N - P I . DH DL
e Line 2: The content of AX register which is 17/ H is copied 3P
into the memory location DS : SI, and DS : SI+1. ‘ oP
e The physical address is calculated as: St
DS : SI = 1120 H : 2498 H — 11200 H + 2498 H — 13698 H Di

DS SI+1=1120 I : 2498 +1 H = 11200 H + 2499 H =
13699 I Reg <> [DS . {SI| DI | BX}]
e The memory content:
13698 H will hold FE H :: AL : Low byte
13699 H will hold 17 H :: AH : High byte

20
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index (Sl or DI) plus base (BX or BP) register.

Computer Engineering Department

Base Indexed Memory Addressing Mode

* A byte 8 bits or a word 16 bits will be transferred between a register and a memory location indexed by an

* This mode is considered as a combination between based mode and indexed mode in which one base register

and one index register is used at each time.

Reg < [{DS | SS | ES} : {SI | DI} + {BX |BP} ]

Memory
Addressing Mode

-

v I v

Register Relaﬁve} [ e

[ Direct ] [ Register Indirect Based |ndexedﬂJ

Dr. Eng. Ahmad Saeed Mohammad.

i
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Relative Based ] E
|
g

Describable each line and write the equations of the physical address
for the following assembly code:

edit: Z:\home\ahmadworkstation\Dropbox\_MustUni_2019_202

file edit bookmarks assembler emulator math ascii codes help

D = 4 . & . - ®
new open examples save compile  emulate | calculator convertor
91 org 106h —
92 MOV [BX+DI], CL
93 MOV CH, [BX+SI]
94 MOV AH, [BP+DI]
95 MOV [BP+SI], AL
06 ret
line: 6 [col 36 | [ drag a file here to open Y

Solution:
e Line 2: Copy contents of C'L into [DS : BX + DI
PA — DS x 10 + BX + DI

e Line 3: Copy contents of the [DS: BX -+ SI] into CH:
PA = DS x 10 + BX + SI

e Line 4: Copy contents of the [SS: BP + SI| into C'H:
PA =85 x 10 + BP + SI

Line 5: Copy contents of AL into [SS : BP + S1|:
PA =SS x 10 + BX | DI

Dr. Eng. Ahmad Saeed Mohammad.

Base Indexed Memory Addressing Mode

Physical agaress = [Segment agdress) X 10]g+OfEset Agdress
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Register Relative Memory Addressing Mode

* A byte 8 bits or a word 16 bits will be transferred between a register and a memory location indexed by an
index (SI, DI) or base (BX) register plus displacement.

Reg <> [{DS | SS | ES} : {SI| DI} | {BX | BP} + Disp.]

Memory
Addressing Mode

————————————

-

4
,

’ ~

f
; v 2 v v v
[ Direct ] [Register lndirect] [ Based Indexed ] [Register Relaﬁve] [ Relative Based ]

Indexed
Dr. Eng. Ahmad Saeed Mohammad.

g TE SO SRS

Register Relative Memory Addressing Mode

Example 6.8:

Describable each line and write the equations of the physical address
for the following assembly code:

file edit assembler emulator math ascii codes help
0 F Y . H . »- a A
new open  examples save compile emulate | calculator convertor | opti
91 org 106h =1

92 MOV AX, [BX+4]
93 MOV CH, [SI+5]
94 MOV AH, [DI+1]
)5 MOV [BP+2], AL

06 ret |

line: 6 |c2t‘34 — [ . I _ ragafieheretoopen

Bolutit Reg < |{DS | SS| ES} :+ {SI| DI} | {BX|BP} + Disp]
e Line 2: Copy contents of the [DS: BX + 4] into AX:

PA = DS x 10 | BX | 4

e Line 3: Copy contents of the [DS: ST | 5] into CH:
PA =DS x 10 + SI |+ 5

e Line 4: Copy contents of the [DS: DI + 1] into AH:
PA = DS x 10 + DI + SI

o Line 5: Copy contents of AL into [SS : BP + 2I: Physical adaress = [Segment agdress) X 10]g+Offset agaress
PA =855 x 10 + BP + 2

UMKC
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[ —
Register Relative Memory Addressing Mode

Calculate the physical address for the following assembly code, assume
that DS = 4500 H, SS = 2000 H, BX = 2100 H, SI = 1486 H, DI =
8500 H, BP= 7814 H, and AX = 2512 H:

edit: Z:\home\ahmadworkstation\Dropbox\_MustUni_2019_202

file edit emulator math ascii codes help

0O = DA = | » = @
new open examples save compile emulate | calculator convertor
91 org 1060h
2 MOV [BX+20], AX
93 MOV [SI+10], AX
)4 MOV [DI+4], AX
)5 MOV [BP+12], AX
)6 ret
: = T T :
S | R [ Reg < [{DS | SS | ESY : {SI| DI} | {BX | BP} + Disp]

Solution: Since: PA = Seg.Reg. x 10+offsetReg. + Disp.

118

Line 2: PA = 45000 + 2100 + 20 = 47120:
Location 47120 = (12) and 47121 = (25)

*

Line 3: PA = 45000 + 1486 4 10 = 46496:
Location 46496 = (12) and 46497 = (25)

*

Physical adaress = [Segment adgress) X 10] y+Offset sddress

Line 4: PA — 45000+ 8500 + 4 = 4D504:
Location 4D504 = (12) and 4D505 = (25)

*

Line 5: PA = 20000+ 7814 + 12 = 27826:
Location 27826 = (12) and 27827 = (25)

*

25

Relative Base Index Memory Addressing Mode

* This mode is similar to the base indexed addressing mode, in addition, it adds a displacement besides the

base and index register.

Reg < [{DS | SS | ES} : {SI|DI} + {BX|BP} + Disp] l

Addressing Mode

{ H

| Memory !

E Addressing Mode | !

! i

1 1

1 (]

1 1

i 1

| }

- .
'f ------ e = D a2 ---5\‘
! v . v v v :
) ) i ) . Relative Based | |
[ Direct ] [Regmter lndlrect] [ Based Indexed ] [Reglster Relauve] [ el ] i
4
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[ —
Relative Base Index Memory Addressing Mode

Example 6.10: Solution:

Describable each line and write the equations of the physical address e Line 2: Copy contents of AX into [DS: BX + DI + 1]:

for the following assembly code: PA = DS x 10 + (BX + DI + 1)
edit: Z:\home\ahmadworkstation\Dropbox\_MustUni_2019_202 o Line 3: Copy contents of the [DS : BX + SI + 10] into AX:
file edit b math ascii codes _help PA = DS x 10 +( BX + ST + 10)
2 > = 3 . X .
;Ew J:" m%:;g; T ,53 T comﬂnue emulate cal;ator cmgm,, (,; e Line 4: Copy contents of the [SS: BP + DI + 3] into AH:
57 org 166h = PA = $§ x 10 + (BP + DI + 3)

MOV [BX+DI+1], AX
MOV AX, [BX+SI+10] Line 5: Copy contents of AL into [SS: BP + 51 +6]:
34 MOV AH, [BP+DI+3] PA =SS x 10 + BP + ST + 6
5 MOV [BP+SI+6], AL
6 MOV AX, FILE[BX+DI]

Line 6: Copy contents of the [DS : BX + DI + FILE] into

S LRIl | AX: PA = DS x 10 + (BP + DI + FILE)
1 T — LlJ o Line 7: Copy contents of the [SS: BP 4+ 51 +4 4 LIST] into

Lo2 ] [ ST DH: PA = S8 x 10 + (BP + DI + 4 + LIST)

PhySicalAddress = [SegmentAddress} X 10]H+OﬁsetAddress

UMKC

String Addressing Mode

Addressing Mode @

] 1
1 1
1 1
i String i
i Addressing Mode | |

1

v v v v

Register Immediate Memory o Implied
Addressing Mode | | Addressing Mode | | Addressing Mode Addressing Mode | | Addressing Mode
| . 4
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[ —
String Addressing Mode

* This addressing mode is used when a string instruction is executed.

* Neither Sl or DI register will appear in instruction code; however, Sl will point to the first byte or word of the
source data string, and DI will point to the first byte or word of the destination data string.

* Also, Sl and DI are incremented or decremented according to the status of the flags.

ES :[DI| < DS :[S1]

String Addressing Mode

Describe the following assembly code, and which addressing mode is x| x| x| x | OF |DF|IF|TF
used, also mentioned which flag is used to increment/decrement the T v ! ;
address of data and how to clear this flag. i !
1 =Overflow Occurred ! !
P Jere (OF s clcoated s T Bxcorce) |||
S5 |e700 : ! H
file edit bookmarks bler emulator math ascii codes help e [FFFE mﬂ:""J f i
0 = o - (=] - 0=Auto Increment i i
| new open examples save compile  emulate | calc BP 6008 (Used in String Instructions) ! |
01 org 106h s [oeo1 P ——— '
‘* mgzgﬁ DI IBBB‘I 1=Enable Interrupt ; ;
U3 = Di: nterr ' i
04 ret e Il]?m] ?Aﬂl::;b:n;v::ﬂ:)m H
‘ Es [0700 p— [
line: 4 |(:o|: w draga 1 = Perform Sing
o Y | 0=Do Not Perfo
Solution:
Line 2: Copy byte at DS:[SI] to ES:[DI]. Then, Update SI and DI. ES : [DI] < DS : [S]]
Line 3: Copy word at DS:[SI] to ES:[DI]. Then, Update SI and DI.
This mode is string addressing mode. Also, IF DF flag is (0), then

both ST and DI will incremented. The instruction (CLD) will clear
the Direction Flag (DF).

Dr. Eng. Ahmad Saeed Mohammad.
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Addressing Mode

Input/Output (I/0) Addressing Mode

v v v 4 v " v
1 1
Register Immediate Memory String i 1o E Implied
Addressing Mode | | Addressing Mode | | Addressing Mode | | Addressing Mode { Addressing Mode | || Addressing Mode
\ ¥ R
v v i
! Direct Port Indirect Port i
] Addressing Addressing i
I e e —— J
| Direct ’ ‘ Register lndirectJ ’ Based Indexed | ’ Register Relative ’ Re'?:ggngsm |

outside environment and devices.

Table 6.1 shows the description for the mentioned above instructions.

Input/Output (I/0) Addressing Mode

This mode is also call port addressing mode which use the (IN) and (OUT) instruction to communicate with

There are two types of this mode which are direct port and indirect port addressing mode.

Table 6.1: Input (IN) and output (OUT) instruction.

Instruction Description Usage
IN AL, Im.Byte

IN Input from port into AL or AX. | IN AL, DX
Second operand is a port number. | IN AX, Im.Byte

IN AX, DX
OUT Port#, AL
our | Qe AL AX Bt O puc A

' OUT DX, AX

UMKC

Dr. Eng. Ahmad Saeed Mohammad.

16



System Programming with 8086
MicroProcessor | Ch. 6

Direct Port Addressing Mode

* For direct input operation, the data will be applied directly to destination register (AL or AX) using (IN)
instruction as shown in the following equation:

Direct Mode = IN :: { AX | AL } < {PortNum }

* For direct output operation a direct port number (0 to 255) is used as shown in the following equation:

Addressing Mode @

Direct Mode = OUT :: PortNum < { AX | AL} | i w0 i
L )

Addresssng Mode

___________

r \
1

I 1
i Direct Port Indirect Port i
i Addressing Addressing !

Direct Port Addressing Mode :

Example 6.12:

Write an assembly code to get status of traffic lights (Port number
4). Also, to get status of stepper-motor (Port number 7). Use direct

addressing mode. 'e;"f : - :

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1
Solution: 7F543210
1pB0e00e

file edit emulator math ascii codes help file math debug
[} = e . W - = = 1
new open examples save compile  emulate | calculato Load re
1 org 106h —
2 IN AX, 4 .—get statys of traffic lights. r’e,QELBLS.H_n .’fEG\iStE'SH
i:tAL, 7 ; get status of stepper-motor. FF I | a [o5;|le0
EX |60 |88 60 |60
X |88 |85 — X |80 |85
line: 4 [col 46 }IJ‘E px [08 [o8 px |80 [ee
Z1 CS |8788 Cs |e7e8
- ks P o182 P o104
— —_———— S5 |e700 S5 |e7e0
—@‘ sP [FFFE sP [FFFE
|
FEDCBA9876543218
geee111111111111

-
—

port 4 (word - 16 bits)

34

Dr. Eng. Ahmad Saeed Mohammad.
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Example 6.13:

Write an assembly code to turn the green traffic light for north and
south, and turn red light for east and west. Also, turn on the third
magnet of the stepper-motor. Use direct addressing mode. ready

Solution:

file edit assembler _emulator math _ascii codes _help file math debug
B B xo.0B . > |
new open  examples save compile emulate | calculator  Load re
org 10eh B N
e RS r - registers T
3 MOV AX, e3ech ; Green: North & South > | [03 "CM s [03 [oa
1 0UT 4, AX ; Red: East & West
e BX |68 _|88——"T" EX |68 |88
MOV AL, 100b ; Turn on the third —1Cx |88 [8a X |88 [ea
QUT T AL magnet of the Stepper-motol oy fao oo ox [o0[o0
Cs |e708 CS |e788
P 0105 IP 0109
S5 |e700 S5 |e708

(_i ;
re 3
: FEDABASEY 6543 ! § §P5R5]s
o

el port 4 (word - 16 bits)

T

35

Indirect Port Addressing Mode

* For indirect input operation, the data will be applied indirectly using Data (DX) register to the destination
register (AL or AX) as shown in the following equation:

Indirect Mode = IN :: { AX | AL} <+ {DX }

* Forindirect output operation The DX register used instead of direct port number as shown:

Addressing Mode @

Indirect Mode = OUT :: DX < { AX | AL}

Addressing Addressing

[ Direct Port ][ Indirect Port J

36
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Indirect Port Addressing Mode I
:

Write an assembly code to turn the green traffic light for north and
south, and turn red light for east and west. Also, turn on the third

magnet of the stepper-motor. Use indirect addressing mode. ready | m [ |
7 2 7 0
Solution:
76543210
file edit bookmarks assembler emulator math ascii codes help file math debug * 15““““““
0 = T~ - = 4 t
new open examples save compile  emulate | calculato Load rel
org 100h =
e N T PN W I UMRRILE NN RSP - registers
MOV DX, @36Ch [ oL
1 MOV AX, DX ; Green: North & South A G il

OUT 4, AX ; Red: x [00 |00
SRR SSS R o0 [oF
MOV DX, 10@b m t

MOV AL, DL ; Turn on the third | A 2.“, o

ouT 7, AL ; magnet of the stepper-motor.|{ s lszae— 0700

810E
07008
FFFE
0066
0006

Creaty  m o W
7

Ty 210
1100

port 4 (word - 16 bits) pOrt 4{W0rd -16 b“sl

76543218
10000000

37

Implied Addressing Mode

Addressing Mode @

N,

v v v v v | v "
1 1
Register Immediate Memory String o i Implied i
Addressing Mode | | Addressing Mode | | Addressing Mode | | Addressing Mode | | Addressing Mode ' Addressing Mode | !
| N e J
2 ¥
Direct Port Indirect Port
Addressing Addressing

v . v v v

| Direct ’ [Register lndirectJ ’ Based Indexed J [Register Relative ’ Relative Based |

Indexed

UMKC
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Implied Addressing Mode

* In this mode, the address will be specified by an operand of size 8-bit signed value which is relative
(displacement) to the instruction pointer (IP).

[[P] < [IP + Operand) ]

Implied Addressing Mode

roregisters ——— | [ reqisters

a foo fo0 | | e [on o0
o oo foa

Example 6.15:

Write an assembly code to increment the instruction pointer (IP) by
(6h) if carry flag is zero.

Solution:

file math debug

file edit assembler emulator math a:

0O =4 . Lo = | |
new :n mﬁ&es sge Load _ra
= arg:188h [ reqisters [ registers DF B >
@~ Fofos | oo o
06 |08 00 [00
:: 00 [00 : 00 [00 FF 0~
06 [03 00 [03 [
= nD><< AF g~ SP  IFFFE
3 | EP  [0000
IF IG Sl s 151515 ]
P [FFFE DF IB "I Dl |eee8
o Ds |87o0
LTI
e [ o [o090 || o [oaos Es [0700
oF [0 ] ps [e7e8 05 [0700
Y — | (A g5 [0700
[line: 5 [cot 32 [— |

40
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Questions of Chapter 6

1. Write an assembly code to turn the green traffic light for east and
west, and turn red light for north and south. Using:

(a) Direct port addressing mode.
(b) indirect port addressing mode.

2. Write an assembly code to turn on the first magnet of the stepper-
motor. Using:

(a) Direct port addressing mode.

(b) indirect port addressing mode.

This material was acquired from the references (Page 77).

Questions of Chapter 6

3. Describable each line and write the equations of the physical address,
also specify the type of addressing mode for the following:

01 MOV [BX+SI+30], DX —
92 MOV AX, [BX+DI+50]

@3 MOV [BX,30], DX

©4 MOV DH, [BX,+SI]

85 MOV [271@], CL

@6 MOV CX, FILE[BX+SI+7]

67 MOV [BP+14], AX

98 MOV [SI], AX

99 MOV AL, 3Bh

16 MOV CX, [DI]

11 MOV [BP+SI], AL -
e ;l_l
Jline: 11 |col: 54 [ | drag a file here to open 4

This material was acquired from the references (Page 77).

Dr. Eng. Ahmad Saeed Mohammad.
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Questions of Chapter 6

4. Calculate the physical address for the following assembly code, as-
sume that DS = 4500 H, SS = 2000 H, BX = 2100 H, SI = 1486 H,
DI = 8500 H, BP= 7814 H, and AX = 2512 H:

51 MOV [BP+16], AX =
02 MOV [SI+26], AX
03 MOV [DI+28], AX
B4 MOV [BX+14], AX |
[line: 4 [col: 52 | | drag a file here to open A

This material was acquired from the references (Page 77).
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